B.A./Part-1/Gen./SOCG-1/2020

st T L et

WEST BENGAL STATE UNIVERSITY
B.A. General Part-I Examination, 2020

SOCIOLOGY
PAPER-SOCG-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

GROUP-A

eta-F
I. Answer any one of the following within 1000 words: I15x1 =15

THfIe - 9F15 2Ti7 T 000 *THa N wies
(a) Define Sociology. Can Sociology be regarded as science?
AEreCgd F@| 11 | IIerog( [ [Keai &1 5CeT 9

(b) What is family? Discuss its role in modern society.
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2. Write short note on any one of the following within 400 words: 5x1 =35
fsffie @-@iet @76 R soo *itwg sty ke Bl et

(a) French Revolution

AN Rz
(b) Socialisation.
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3. Answer any one of the following within 1000 words: I15x1 =15

THfIfe @-I 9F15 2T Ted Sooo = 3 wies
(a) Differentiate between caste and class.
Tifs @R @R ey 2N o T

(b) How is social movement related to social change?
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4. Write short note on any one of the following within 400 words:
fsfifie @-@iet @6 R soo *itwa Wy ke Biw et

(a) Social mobility

s A5eTo!
(b) Women’s movement.
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5. Answer any five of the following within 50 words each:

RS @-@i AT 2rit Teg afe ¢o *itwra sy wies

(a) Industrial revolution

IRERSES
(b) Deviance
fgrfe
(¢) Quantitative method
QIERIRRSERIS
(d) Secondary Group
¢aMet ol
(e) Cultural lag
Fhod f[eTee
(f) Formal group
S ot
(g) Social control
e fermael
(h) Divorce
fRate fKion
(i) Inequality
SN

(j) Pratiloma marriage.

CISIGIPATEIEY

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at in
proper address). Students are strongly advised not to submit multiple copies of the same answer

script.
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5x1=35

2x5=10



